2000/5/6

:SOKRPGBCHD
SKOPEN SD(4) RC(1) | 4
SKBIND  SD(4) RC(1) ANY(15) PORT(5) SKOPEN SD RC
'ANY' 30031’
SKLISN  SD(4) RC(1) SKCONN SD RC IP PORT
SKACPT SD(4) RC(1) ND(4) &4 \ 4
EXEMT(
EXIT=
SKGIVE  ND(4) RC(1) APLID(8)
'SOKBCH' o SKSEND SD RC BUFLEN BUFUOT
SOKRPGBCH
\ .

SKTAKE  SD(4) RC(1) APLID(8) SKREAD SD RC BUFLEN BUFIN
SKCLOS SD(4) RC(1) i 'SOKBCH"'

SKREAD  SD(4) RC(1) BUFLEN(4) BUFIN(256) SKCLOS SD RC

'256'

(END= EXIT=

SKSEND  SD(4) RC(1) BUFLEN(4) BUFOUT(256)
TCP i '256'

IP,PORT

SKCLOS  SD(4) RC(1)

SKTAKE
JOB

JOB SKGIVE

JIS =SKSNDS"

RPG XIs



